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English Second Term Test ONE

Many species are under the threat of extinction Because
of human activities. Hunters have always killed animals for
their ivory, oil and skins. Others have been killed because
they attack the farmer’s animals. So, the total animal’'s
number has been declined.

Farmers and industrialists in South America like Brazil
have cut down a large section of Amazon forests and built
many factories and houses. As a result, birds and animals
have lost their habitat.

People have polluted the oceans. They have thrown
chemical products and oil into seas. So, aquatic species have
been died.

That's why governments have decided to estahllsh special
parks and zoos to protect these species frgm O

in security.
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Activity two: Read the text and answer the following
questions: (3pts)

1- Why hunters killed animals?

2-Have people caused the pollution of the g

3- What have the government decided
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Activity three: Give a title to the text: ( 0.5pt)

Activity four: Match each word with its right definition:
( 1.5pts)

words definitions
« Parks [/ « Natural homes for animals
Z00S *« Animals which disappear B- _Mastery
« Habitat * To keep animals safe from danger of Language

» Activity one: write the correct form of the verbs in
brackets (3pts)

People (to hunt) .......ccssunenns  tigers for many years ago .
They (to kill).. ............ them for their fur. So, government (

to decide).......ccccoveeees to protect these mammals .

e Activity two: (2pts)
Hunters have killed whales., So, these mammals have
been disappeared

1-What does the underlined sentence express? Cause /[
consequence

2-Replace the conjunction “so” by “because"” .
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Activity three: Classify the following words according to
their syllables (2pts)

activities / birds / special | parks |/
One syllable Two syllables Three or more
syllables

Name : Elephant Class: mammals g
Habitat: Africa Food: grass, leaves

Description: giant, grey skin, large ears , friesd\y,
sensitive b
and intelligent Iy
Causes of extinctions: hunters/ ivory/ destroy théir '
natural habitat
Solutions : build factories and houses far from their






